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lEYH(BEAL) 183,400 178,500 4,900
ol 2l 183,400 178,500 4,900
101 @124 dl 183,400 178,500 4,900
02 JIEtE B = 183,400 178,500 4,900
OSSEHAM =Y 183,400
SESEAHYAN A =E8ES =
800,000 » 19¢ » 12& 182,400
—SSBHYAM 1 aZ 100,000 = 10 1,000
EELIEEPY 114,637 113,497 1,140
JlE&l 114,637 113,497 1,140
201 €24l 57,885 56,805 1,080
01 At 22l 57,885 56,805 1,080
ORNM2EII=ZH 31,135
—URAEAFY 60,000 = 10& 600
—BHAAMHAROI 30 » 128 * 4,000% 1,440
— st HEX 90,000 * 8&f Xkt 720
—HE=EE 30,000 » 204 Xkt 600
— SAEX 25,300 * 2504 Xt 6,325
— St & 5,000 = 300= 1,500
—JIE2MNEREE 500,000 * 43| 2,000
— =AM EU 400,000 = 8K 3,200
— WA EY 50,000 » 74 350
—Z2H EYH 240,000 » 308 * 23] 14,400
o=l 6,000
— A2 R TUEZ0HAHI 6,000,000 6,000
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BA: 2AA
M. HMSAAH (EHAA)(IIEH/IIE
ool IR (BAL) CER-ED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
ozg=sY 20,750
— &Y 50,000 * 1 = 115 5,750
— =& Y| 30,000 *» 29 = 250 15,000
202 04| 49,392 49,392 0
01 2LH O HI 49,392 49,392 0
OJleg2+8u|
120,000 * 49Y = 12& * 70% 49,392
203 R =&Y| 7,360 7,300 60
02 BRI 2 =X H| 1,960 1,960 0
OFHSAINMAD2=ZXH|(EAHA) 40,000 » 490 1,960
04 EANSHLRF=AH| 5,400 5,340 60
ORANSYIRFAHI(BEAHA) 5,400
— = 350,000 = 12& 4,200
— It 5,000 = 20 * 128 1,200
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